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GGC(l)—Com (2)

2019(New)

Time : 3 hours

Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.

Ferel§ gemga sr vl A @ I d 1

The figures in the margin indicate full marks.

IV F 3T [ & @aw § |
. Answer from all the Groups as directed.
Révmar aff Gvel @ am § |

Group-A
W e - A

ot State whether the following statements are True'

or ‘False’ : 2x10=20
ward & Fefa wea v’ T ‘o’
(@) The business forecasting has been accepted
as the most useful technique in the field of
trade only.
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\{b)} Correlation is said to be jin
change in the one variabl::;-.: :z nhthe
constant ratio of change in the other, ear
wEway Tl T & 99 A iy gy
w gt = Tt S e g g
g} Karlpearson and the Rank Method wﬁuld not
give the same result.

Freifteda o o O % TRom wom s |

{dy Both the regression coefficient can be greater
than one.
24T seftem T O @ A B a

{e)" Probability involves the study of uncertain

" events.
i sTRfTa geRl i A ¢ |
Wff Chi-square test was first used by Karl

Pearson in the year 1900.

Fré-ant whe wewyw et R g0 1300 #
v farar T |

~(gy The Yate’s corrections are generally made
when number of degrees of freedomiis 2.
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A W W o Fe e T
et ) wen 2 Qdt 2 )
\h)  Mutually exclusive events are Independent.

TR 19 wrnd e gt 2 |

i} The standard deviation of Poisson -

distribution is /m .
ST 2 1 I e e & i |
f” The mean of binomial distribution is np and
standard deviation \/npg .
favg 924 %1 np a4 W A m

BE |
Group -B
g ~-d
Answer any four questions : 5x4 =20
ol o et o Tm d
2" Discuss the technique of business forecasting.
R Yaie & aaHin $i e fifi |
\3 Explain the meaning and types of correlation.
| R 3 e mﬁm forftaw |
GJ-90/4 (3) (Tum over)
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\4 \Whatis probability of getting a total of either 7 o,
11 in a single throw with the dice 7
At F)  ar b 907 T 11 A A iy
qTihar @ 7

5" Obtain the regression equation from the following

data:
et artarsl @ seftomi weieheor i e :
oy
1 8
2 8
3 7
4 6
5 8

6. Write short notes on Rank Correlation.
FIP wraey | wfim oot ferlaw

Group-C
g ~-°

Answer any three questions of the following .
10x3=230
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% Calculate Correlation Coefficient between Income

and Expenditure by Karlpearson's method :

o T % e e dew I 1

fie B
| Income | Expenditure
AT q
46 36
54 40 {
56 44
. 56 54
58 42
60 58
62 54
66 58
61 56
55 50

& Inthe following table, data relates to the condition

of home and condition of child :
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Condition Condition
of child of home
=t # fauf? a1 F fesrfa
_.-__——_'-_-_.
_E:_I;a_n_‘ Not clean Total
| e | D AT |
Clean 80 40 120
L= =]
Fairly clean 40 20 60
HH GO
Dirty 20 60 | 80
TR
140 120 | 260

Do the above conclusion suggest that the
condition of home affect the condition of child.

(Given 5% value of x2 for 2d. f=5.99)
wzqﬁﬁuﬂmuagﬂﬁﬁiﬁimaﬁﬁlﬁm
e o= i fefy waga 2 |

9. 8 coins are tossed 256 times. Find the probability
and expected frequencies from 0 to 8 heads.
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10/ Whatis meant by business forecasting ? Explain
briefly the main methods used in business
forecasting.

ST QAR 1 3 @ 7 we et
T o g B o e g e 8 e |

11. Define Probability and explain the addition
thecrem of probability.
s <) afan A e sifdvha 3 2 A H
s |

—
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